

Materials Management

Purchasing Department 1010ld Venice Road, Osprey, FL 34229 Phone 941-486-2183 • Fax 941-486-2188 SarasotaCountySchools.net

MEMORANDUM

TO: Members of the School Board

Dr. Todd Bowden, Superintendent

Mitsi Corcoran, Assistant Superintendent Chief Financial Officer

FROM: Carol A. Lichon, CPPO, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #18-0130 FOR HVAC FILTER

REPLACEMENT SERVICE

Bids to provide 'HVAC Filter Replacement Service' were received from two vendors on January 17, 2018. The bid of Loft Enterprises, Inc., dba Pure Air Filter Sales and Services was the best low bid meeting the advertised specifications. This bid is for a period of three years with an option to renew for two additional one-year periods. Funds for these purchases are contained in the budget allocated to the Facilities Services Department.

Requested by:

Jody Dumas

"Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 2/13/2018

Financial Impact:

Not to exceed \$700.000.00 For a three-year period

Recommended Motion: That the bid of Loft Enterprises, Inc., dba Pure Air Filter Sales and Services, to provide 'HVAC Filter Replacement Service' in an amount not to exceed \$700,000.00 for a three-year period, be approved as presented.

					FilterPr	o USA, LLC		Lott Enter	•	dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
1		LIGHT-DUTY PLEATED CARBON FILTER	24	Enviroshld FPPLTCRBN	\$14.70	\$352.80	\$13.23	Quality GQP Pleat	\$7.88	\$189.12	\$7.88
2	16 X 20 X 2	2" MERV 13 HI- CAP PLEAT FILTER	93	Enviroshld FPPLTM13H	\$7.63	\$709.59	\$6.87	Quality GQP Pleat	\$6.58	\$611.94	\$6.58
3		2" MERV 13 HI- CAP PLEAT FILTER	96	Enviroshld FPPLTM13H	\$8.39	\$805.44	\$7.55	Quality GQP Pleat	\$7.44	\$714.24	\$7.44
4	20 X 20 X 2	2" MERV 13 HI- CAP PLEAT FILTER	45	Enviroshld FPPLTM13H	\$8.44	\$379.80	\$7.60	Quality GQP Pleat	\$7.46	\$335.70	\$7.46
5		2" MERV 13 HI- CAP PLEAT FILTER	12	Enviroshld FPPLTM13H	\$9.49	\$113.88	\$8.54	Quality GQP Pleat	\$8.89	\$106.68	\$8.89
6	20 X 25 X 2	2" MERV 13 HI- CAP PLEAT FILTER	84	Enviroshld FPPLTM13H	\$9.41	\$790.44	\$8.47	Quality GQP Pleat	\$8.50	\$714.00	\$8.50
7		2" MERV 13 HI- CAP PLEAT FILTER	12	Enviroshld FPPLTM13H	\$10.23	\$122.76	\$9.21	Quality GQP Pleat	\$9.28	\$111.36	\$9.28
8		1" MERV 7 STD- CAP PLEAT FILTER	102	Enviroshld FPPLTM7S	\$5.66	\$577.32	\$5.09	Quality GQP Pleat	\$4.24	\$432.48	\$4.24

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
9	24 X 24 X 1	1" MERV 7 STD- CAP PLEAT FILTER	24	Enviroshld FPPLTM7S	\$7.93	\$190.32	\$7.14	Quality GQP Pleat	\$4.74	\$113.76	\$7.74
10	16 X 25 X 4	4" MERV 7 STD- CAP PLEAT FILTER	24	Enviroshld FPPLTM7S	\$8.31	\$199.44	\$7.48	Quality GQP Pleat	\$6.41	\$153.84	\$6.41
11	12 X 24 X 2	2" MERV 8 STD- CAP PLEAT FILTER	366	Enviroshld FPPLTM8S	\$5.41	\$1,980.06	\$4.87	Quality GQP Pleat	\$4.30	\$1,573.80	\$4.30
12	16 X 20 X 2	2" MERV 8 STD- CAP PLEAT FILTER	36	Enviroshld FPPLTM8S	\$5.60	\$201.60	\$5.04	Quality GQP Pleat	\$4.21	\$151.56	\$4.21
13	20 X 20 X 2	2" MERV 8 STD- CAP PLEAT FILTER	30	Enviroshld FPPLTM8S	\$5.91	\$177.30	\$5.32	Quality GQP Pleat	\$4.59	\$137.70	\$4.59
14	20 X 24 X 2	2" MERV 8 STD- CAP PLEAT FILTER	12	Enviroshld FPPLTM8S	\$6.05	\$72.60	\$5.45	Quality GQP Pleat	\$4.94	\$59.28	\$4.94
15	20 X 25 X 4	4" MERV 8 STD- CAP PLEAT FILTER	36	Enviroshld FPPLTM8S	\$8.52	\$306.72	\$7.67	Quality GQP Pleat	\$7.10	\$255.60	\$7.10
16	13 - 1/2 X 20 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$5.51	\$132.24	\$4.96	NC Filter	\$4.93	\$118.32	\$4.93

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
17	13 X 20 X 1/4	ACTIVATED CARBON POLYESTER PAD	48	Enviroshld FPPOLYCRB N	\$5.51	\$264.48	\$4.96	NC Filter	\$4.83	\$231.84	\$4.83
18	13 X 24 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$6.30	\$151.20	\$5.67	NC Filter	\$5.39	\$129.36	\$5.39
19	16 X 20 X 1/4	ACTIVATED CARBON POLYESTER PAD	228	Enviroshld FPPOLYCRB N	\$6.30	\$1,436.40	\$5.67	NC Filter	\$5.48	\$1,249.44	\$5.48
20	16 X 21- 1/2 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$6.30	\$151.20	\$5.67	NC Filter	\$5.74	\$137.76	\$5.74
21	16 X 21 - 1/4 X 1/4	ACTIVATED CARBON POLYESTER PAD	12	Enviroshld FPPOLYCRB N	\$6.30	\$75.60	\$5.67	NC Filter	\$5.69	\$68.28	\$5.69
22	16 X 21 - 3/4 X 1/4	ACTIVATED CARBON POLYESTER PAD	48	Enviroshld FPPOLYCRB N	\$6.30	\$302.40	\$5.67	NC Filter	\$5.78	\$277.44	\$5.78
23	16 X 25 - 1/2 X 1/4	ACTIVATED CARBON POLYESTER PAD	12	Enviroshld FPPOLYCRB N	\$7.09	\$85.08	\$6.38	NC Filter	\$6.43	\$77.16	\$6.43
24	16 X 25 - 1/4 X 1/4	ACTIVATED CARBON POLYESTER PAD	12	Enviroshld FPPOLYCRB N	\$7.09	\$85.08	\$6.38	NC Filter	\$6.39	\$76.68	\$6.39

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
25	16 X 25 - 5/8 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$7.09	\$170.16	\$6.38	NC Filter	\$6.45	\$154.80	\$6.45
26	16 X 25 X 1/4	ACTIVATED CARBON POLYESTER PAD	48	Enviroshld FPPOLYCRB N	\$7.09	\$340.32	\$6.38	NC Filter	\$6.34	\$304.32	\$6.34
27	17 - 1/2 X 25 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$7.09	\$42.54	\$6.38	NC Filter	\$6.75	\$40.50	\$6.75
28	17 - 1/4 X 25 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$7.09	\$42.54	\$6.38	NC Filter	\$6.68	\$40.08	\$6.68
29	17 X 25 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$7.09	\$42.54	\$6.38	NC Filter	\$6.61	\$39.66	\$6.61
30	18 X 20 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$6.30	\$37.80	\$5.67	NC Filter	\$5.91	\$35.46	\$5.69
31	20 X 20 X 1/4	ACTIVATED CARBON POLYESTER PAD	270	Enviroshld FPPOLYCRB N	\$7.09	\$1,914.30	\$6.38	NC Filter	\$6.34	\$1,711.80	\$6.34
32	20 X 21 - 1/2 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$7.09	\$170.16	\$6.38	NC Filter	\$6.66	\$159.84	\$6.66

					FilterPr	o USA, LLC		Lott Ente	•	dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
33	20 X 21 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$7.09	\$42.54	\$6.38	NC Filter	\$6.56	\$39.36	\$6.56
34	20 X 24 X 1/4	ACTIVATED CARBON POLYESTER PAD	456	Enviroshld FPPOLYCRB N	\$7.09	\$3,233.04	\$6.38	NC Filter	\$7.21	\$3,287.76	\$7.21
35	20 X 25 X 1/4	ACTIVATED CARBON POLYESTER PAD	36	Enviroshld FPPOLYCRB N	\$7.88	\$283.68	\$7.09	NC Filter	\$7.43	\$267.48	\$7.43
36	20 X 27 - 3/4 X 1/4	ACTIVATED CARBON POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$7.88	\$47.28	\$7.09	NC Filter	\$8.03	\$48.18	\$8.03
37	6 - 1/2 X 24 X 1/4	ACTIVATED CARBON POLYESTER PAD	48	Enviroshld FPPOLYCRB N	\$4.73	\$227.04	\$4.26	NC Filter	\$3.69	\$177.12	\$3.69
38	7 X 24 X 1/4	ACTIVATED CARBON POLYESTER PAD	24	Enviroshld FPPOLYCRB N	\$4.73	\$113.52	\$4.26	NC Filter	\$3.83	\$91.92	\$3.83
39	10 X 18 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
40	11 X 17 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	36	Enviroshld FPPOLYCRB N	\$3.03	\$109.08	\$2.73	Carpenter ME Ultra	\$2.83	\$101.88	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
41	11 X 19 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
42	11 X 22 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	48	Enviroshld FPPOLYCRB N	\$3.03	\$145.44	\$2.73	Carpenter ME Ultra	\$2.83	\$135.84	\$2.83
43	11 X 23 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
44	12 X 16 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
45	12 X 18 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
46	17 X 31 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
47	20 X 30 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
48	9 X 20 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	12	Enviroshld FPPOLYCRB N	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83

		IITOT SIZO I FIITOT I VIDO			FilterPr	o USA, LLC		Lott Ente	•	dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
49	9 X 21 X 1/2	MICROBIAL	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
50	9 X 39 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	6	Enviroshld FPPOLYCRB N	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
51	9 X 40 X 1/2	1/2" ANTI- MICROBIAL POLYESTER PAD	12	Enviroshld FPPOLYCRB N	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
52	10 X 18 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
53	10 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
54	10 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	60	Enviroshld FPPOLY	\$3.03	\$181.80	\$2.73	Carpenter ME Ultra	\$2.83	\$169.80	\$2.83
55		1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83
56	10 X 44 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
57	10 X 62 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
58	11 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	48	Enviroshld FPPOLY	\$3.03	\$145.44	\$2.73	Carpenter ME Ultra	\$2.83	\$135.84	\$2.83
59	11 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
60	11 X 61 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	18	Enviroshld FPPOLY	\$3.03	\$54.54	\$2.73	Carpenter ME Ultra	\$2.83	\$50.94	\$2.83
61	12 X 18 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
62	12 X 24 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
63	12 X 28 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83
64	13 X 13 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
65	13 X 31 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
66	14 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
67	14 X 28 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
68	15 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
69	15 X 31 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	168	Enviroshld FPPOLY	\$3.03	\$509.04	\$2.73	Carpenter ME Ultra	\$2.83	\$475.44	\$2.83
70	16 X 16 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
71	16 X 17 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
72	16 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	372	EnviroshId FPPOLY	\$3.03	\$1,127.16	\$2.73	Carpenter ME Ultra	\$2.83	\$1,052.76	\$2.83
73	16 X 21 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	EnviroshId FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
74	16 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	522	Enviroshld FPPOLY	\$3.03	\$1,581.66	\$2.73	Carpenter ME Ultra	\$2.83	\$1,477.26	\$2.83
75	16 X 30 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	1554	Enviroshld FPPOLY	\$3.03	\$4,708.62	\$2.73	Carpenter ME Ultra	\$2.83	\$4,397.82	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
76	16 X 39 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	72	Enviroshld FPPOLY	\$3.03	\$218.16	\$2.73	Carpenter ME Ultra	\$2.83	\$203.76	\$2.83
77	16 X 42 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	18	Enviroshld FPPOLY	\$3.03	\$54.54	\$2.73	Carpenter ME Ultra	\$2.83	\$50.94	\$2.83
78	16 X 66 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$4.57	\$27.42	\$4.11	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
79	16 X 78 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$4.57	\$54.84	\$4.11	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
80	17 X 17 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
81	17 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
82	17 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
83	17 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter ME Ultra	\$2.83	\$101.88	\$2.83
84	17 X 29 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83

					FilterPi	o USA, LLC		Lott Ente	-	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
85	17 X 30 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
86	17 X 31 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	312	Enviroshld FPPOLY	\$3.03	\$945.36	\$2.73	Carpenter ME Ultra	\$2.83	\$882.96	\$2.83
87	17 X 67 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	18	Enviroshld FPPOLY	\$4.57	\$82.26	\$4.11	Carpenter ME Ultra	\$2.83	\$50.94	\$2.83
88	18 X 18 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
89	18 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	42	Enviroshld FPPOLY	\$3.03	\$127.26	\$2.73	Carpenter ME Ultra	\$2.83	\$118.86	\$2.83
90	18 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
91	18 X 24 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
92	18 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	18	Enviroshld FPPOLY	\$3.03	\$54.54	\$2.73	Carpenter ME Ultra	\$2.83	\$50.94	\$2.83
93	19 X 19 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter ME Ultra	\$2.83	\$101.88	\$2.83

					FilterPı	o USA, LLC		Lott Ente	-	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
94	19 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
95	20 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	708	Enviroshld FPPOLY	\$3.03	\$2,145.24	\$2.73	Carpenter ME Ultra	\$2.83	\$2,003.64	\$2.83
96	20 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	102	Enviroshld FPPOLY	\$3.03	\$309.06	\$2.73	Carpenter ME Ultra	\$2.83	\$288.66	\$2.83
97	20 X 24 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	48	Enviroshld FPPOLY	\$3.03	\$145.44	\$2.73	Carpenter ME Ultra	\$2.83	\$135.84	\$2.83
98	20 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	312	Enviroshld FPPOLY	\$3.03	\$945.36	\$2.73	Carpenter ME Ultra	\$2.83	\$882.96	\$2.83
99	20 X 30 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	1596	Enviroshld FPPOLY	\$3.03	\$4,835.88	\$2.73	Carpenter ME Ultra	\$2.83	\$4,516.68	\$2.83
100	21 X 21 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83
101	21 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
102	21 X 32 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83

					FilterPi	o USA, LLC		Lott Ente	-	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
103	21 X 45 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$4.57	\$27.42	\$4.11	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
104	22 X 22 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	570	Enviroshld FPPOLY	\$3.03	\$1,727.10	\$2.73	Carpenter ME Ultra	\$2.83	\$1,613.10	\$2.83
105	22 X 23 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
106	22 X 46 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$4.57	\$27.42	\$4.11	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
107	23 X 24 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
108	23 X 25 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83
109	24 X 24 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter ME Ultra	\$2.83	\$101.88	\$2.83
110	24 X 36 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter ME Ultra	\$2.83	\$16.98	\$2.83
111	7 X 13 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	18	Enviroshld FPPOLY	\$3.03	\$54.54	\$2.73	Carpenter ME Ultra	\$2.83	\$50.94	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
112	7 X 20 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter ME Ultra	\$2.83	\$67.92	\$2.83
113	9 X 62 X 1	1" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
114	10 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter ME Ultra	\$2.83	\$33.96	\$2.83
115	10 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	48	Enviroshld FPPOLY	\$3.03	\$145.44	\$2.73	Carpenter	\$2.83	\$135.84	\$2.83
116	10 X 21 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
117	10 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	60	Enviroshld FPPOLY	\$3.03	\$181.80	\$2.73	Carpenter	\$2.83	\$169.80	\$2.83
118	11 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
119	11 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
120	11 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	144	Enviroshld FPPOLY	\$3.03	\$436.32	\$2.73	Carpenter	\$2.83	\$407.52	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
121	11 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
122	12 X 12 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
123	12 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
124	12 X 18 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
125	12 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	900	Enviroshld FPPOLY	\$3.03	\$2,727.00	\$2.73	Carpenter	\$2.83	\$2,547.00	\$2.83
126	13 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
127	13 X 17 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	168	Enviroshld FPPOLY	\$3.03	\$509.04	\$2.73	Carpenter	\$2.83	\$475.44	\$2.83
128	13 X 18 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	480	Enviroshld FPPOLY	\$3.03	\$1,454.40	\$2.73	Carpenter	\$2.83	\$1,358.40	\$2.83
129	13 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	120	Enviroshld FPPOLY	\$3.03	\$363.60	\$2.73	Carpenter	\$2.83	\$339.60	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
130	13 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
131	14 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	204	Enviroshld FPPOLY	\$3.03	\$618.12	\$2.73	Carpenter	\$2.83	\$577.32	\$2.83
132	14 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	126	Enviroshld FPPOLY	\$3.03	\$381.78	\$2.73	Carpenter	\$2.83	\$356.58	\$2.83
133	14 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	312	Enviroshld FPPOLY	\$3.03	\$945.36	\$2.73	Carpenter	\$2.83	\$882.96	\$2.83
134	15 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	258	Enviroshld FPPOLY	\$3.03	\$781.74	\$2.73	Carpenter	\$2.83	\$730.14	\$2.83
135	15 X 22 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	60	Enviroshld FPPOLY	\$3.03	\$181.80	\$2.73	Carpenter	\$2.83	\$169.80	\$2.83
136	15 X 23 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
137	15 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
138	15 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	288	Enviroshld FPPOLY	\$3.03	\$872.64	\$2.73	Carpenter	\$2.83	\$815.04	\$2.83

					FilterPı	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
139	15 X 26 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	240	Enviroshld FPPOLY	\$3.03	\$727.20	\$2.73	Carpenter	\$2.83	\$679.20	\$2.83
140	16 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	132	Enviroshld FPPOLY	\$3.03	\$399.96	\$2.73	Carpenter	\$2.83	\$373.56	\$2.83
141	16 X 18 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
142	16 X 19 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	60	Enviroshld FPPOLY	\$3.03	\$181.80	\$2.73	Carpenter	\$2.83	\$169.80	\$2.83
143	16 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	7212	Enviroshld FPPOLY	\$3.03	\$21,852.36	\$2.73	Carpenter	\$2.83	\$20,409.96	\$2.83
144	16 X 21 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	348	Enviroshld FPPOLY	\$3.03	\$1,054.44	\$2.73	Carpenter	\$2.83	\$984.84	\$2.83
145	16 X 22 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	1272	Enviroshld FPPOLY	\$3.03	\$3,854.16	\$2.73	Carpenter	\$2.83	\$3,599.76	\$2.83
146	16 X 23 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
147	16 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	1002	Enviroshld FPPOLY	\$3.03	\$3,036.06	\$2.73	Carpenter	\$2.83	\$2,835.66	\$2.83

					FilterPi	o USA, LLC		Lott Ente	-	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
148	16 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	7476	Enviroshld FPPOLY	\$3.03	\$22,652.28	\$2.73	Carpenter	\$2.83	\$21,157.08	\$2.83
149	16 X 26 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	594	Enviroshld FPPOLY	\$3.03	\$1,799.82	\$2.73	Carpenter	\$2.83	\$1,681.02	\$2.83
150	16 X 27 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	102	Enviroshld FPPOLY	\$3.03	\$309.06	\$2.73	Carpenter	\$2.83	\$288.66	\$2.83
151	16 X 28 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	678	Enviroshld FPPOLY	\$3.03	\$2,054.34	\$2.73	Carpenter	\$2.83	\$1,918.74	\$2.83
152	16 X 30 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
153	16 X 31 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
154	16 X 36 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	60	Enviroshld FPPOLY	\$3.03	\$181.80	\$2.73	Carpenter	\$2.83	\$169.80	\$2.83
155	16 X 39 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
156	16 X 41 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter	\$2.83	\$101.88	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
157	17 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
158	17 X 21 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
159	17 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	66	Enviroshld FPPOLY	\$3.03	\$199.98	\$2.73	Carpenter	\$2.83	\$186.78	\$2.83
160	17 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	126	Enviroshld FPPOLY	\$3.03	\$381.78	\$2.73	Carpenter	\$2.83	\$356.58	\$2.83
161	17 X 34 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
162	18 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	240	Enviroshld FPPOLY	\$3.03	\$727.20	\$2.73	Carpenter	\$2.83	\$679.20	\$2.83
163	18 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	144	Enviroshld FPPOLY	\$3.03	\$436.32	\$2.73	Carpenter	\$2.83	\$407.52	\$2.83
164	18 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	624	Enviroshld FPPOLY	\$3.03	\$1,890.72	\$2.73	Carpenter	\$2.83	\$1,765.92	\$2.83
165	19 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
166	19 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	84	Enviroshld FPPOLY	\$3.03	\$254.52	\$2.73	Carpenter	\$2.83	\$237.72	\$2.83
167	19 X 31 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
168	20 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	5982	Enviroshld FPPOLY	\$3.03	\$18,125.46	\$2.73	Carpenter	\$2.83	\$16,929.06	\$2.83
169	20 X 21 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	180	Enviroshld FPPOLY	\$3.03	\$545.40	\$2.73	Carpenter	\$2.83	\$509.40	\$2.83
170	20 X 22 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	438	Enviroshld FPPOLY	\$3.03	\$1,327.14	\$2.73	Carpenter	\$2.83	\$1,239.54	\$2.83
171	20 X 23 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
172	20 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	3876	Enviroshld FPPOLY	\$3.03	\$11,744.28	\$2.73	Carpenter	\$2.83	\$10,969.08	\$2.83
173	20 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	7050	Enviroshld FPPOLY	\$3.03	\$21,361.50	\$2.73	Carpenter	\$2.83	\$19,951.50	\$2.83
174	20 X 26 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	384	Enviroshld FPPOLY	\$3.03	\$1,163.52	\$2.73	Carpenter	\$2.83	\$1,086.72	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
175	20 X 27 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	30	Enviroshld FPPOLY	\$3.03	\$90.90	\$2.73	Carpenter	\$2.83	\$84.90	\$2.83
176	20 X 28 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	588	Enviroshld FPPOLY	\$3.03	\$1,781.64	\$2.73	Carpenter	\$2.83	\$1,664.04	\$2.83
177	20 X 29 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
178	20 X 30 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
179	20 X 32 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	24	Enviroshld FPPOLY	\$3.03	\$72.72	\$2.73	Carpenter	\$2.83	\$67.92	\$2.83
180	20 X 38 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$4.57	\$164.52	\$4.11	Carpenter	\$2.83	\$101.88	\$2.83
181	20 X 48 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$4.57	\$54.84	\$4.11	Carpenter	\$2.83	\$33.96	\$2.83
182	21 X 21 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
183	21 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	120	Enviroshld FPPOLY	\$3.03	\$363.60	\$2.73	Carpenter	\$2.83	\$339.60	\$2.83

				FilterPro USA, LLC				Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
184	21 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	102	Enviroshld FPPOLY	\$3.03	\$309.06	\$2.73	Carpenter	\$2.83	\$288.66	\$2.83
185	21 X 28 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
186	22 X 22 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
187	22 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter	\$2.83	\$101.88	\$2.83
188	22 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	90	Enviroshld FPPOLY	\$3.03	\$272.70	\$2.73	Carpenter	\$2.83	\$254.70	\$2.83
189	22 X 42 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$4.57	\$54.84	\$4.11	Carpenter	\$2.83	\$33.96	\$2.83
190	23 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
191	24 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	2094	Enviroshld FPPOLY	\$3.03	\$6,344.82	\$2.73	Carpenter	\$2.83	\$5,926.02	\$2.83
192	24 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	42	Enviroshld FPPOLY	\$3.03	\$127.26	\$2.73	Carpenter	\$2.83	\$118.86	\$2.83

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item #	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	model number	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
193	24 X 26 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
194	24 X 28 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
195	25 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	240	Enviroshld FPPOLY	\$3.03	\$727.20	\$2.73	Carpenter	\$2.83	\$679.20	\$2.83
196	25 X 26 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	36	Enviroshld FPPOLY	\$3.03	\$109.08	\$2.73	Carpenter	\$2.83	\$101.88	\$2.83
197	7 X 24 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	72	Enviroshld FPPOLY	\$3.03	\$218.16	\$2.73	Carpenter	\$2.83	\$203.76	\$2.83
198	8 X 16 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	6	Enviroshld FPPOLY	\$3.03	\$18.18	\$2.73	Carpenter	\$2.83	\$16.98	\$2.83
199	8 X 20 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
200	9 X 25 X 2	2" MERV 8 PAD POLYTACK ANTIMICR	12	Enviroshld FPPOLY	\$3.03	\$36.36	\$2.73	Carpenter	\$2.83	\$33.96	\$2.83
201	11 X 22	ANTI-MICROBIAL POLYESTER SLEEVE	6	EnviroshId FPSLEEVE	\$3.68	\$22.08	\$3.31	Carpenter	\$2.95	\$17.70	\$2.95

					FilterPr	o USA, LLC		Lott Ente	•	, dba Pure Ai Services	r Filter Sales
Item#	Filter Size	Filter Type	Estimated Usage	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)	Brand & model number bid	Price for each filter change including filter	Annual Price for six (6) filter changes including filter	Price for each filter Material Only (delivered to each location)
202	13 X 26	ANTI-MICROBIAL POLYESTER SLEEVE	6	Enviroshld FPSLEEVE	\$3.68	\$22.08	\$3.31	Carpenter	\$2.95	\$17.70	\$2.95
203	15 X 22	ANTI-MICROBIAL POLYESTER SLEEVE	6	Enviroshld FPSLEEVE	\$3.68	\$22.08	\$3.31	Carpenter	\$2.95	\$17.70	\$2.95
204	20 X 20	ANTI-MICROBIAL POLYESTER SLEEVE	6	EnviroshId FPSLEEVE	\$3.68	\$22.08	\$3.31	Carpenter	\$2.95	\$17.70	\$2.95
205	20 X 22	ANTI-MICROBIAL POLYESTER SLEEVE	6	Enviroshld FPSLEEVE	\$3.68	\$22.08	\$3.31	Carpenter	\$2.95	\$17.70	\$2.95
206	WASHOUT	WASH-OUT FILTER	1782	FPWASH OUT	\$3.03	\$5,399.46	\$0.00	Labor only	\$2.83	\$5,043.06	\$2.83
		ANN	UAL TOTAL			\$182,158.65				\$169,100.04	
a single personr personr personr	e, local telephonel to call during star	NE - The Contractor some number for the SE contact the Contractor's ndard working hours. this phone on a conting hours.	SSC supervisory Contractor		256-	767-5122			727-	505-5193	

	FilterPro USA, LLC	Lott Enterprises, Inc., dba Pure Air Filter Sales and Services
Please provide details of the recyclability of the filter material if recyclable filter material is bid.	Synthetic polyester fibers used in the MERV 9 polyester pads are recyclable in their virgin state. The manufacturer of the synthetic media only uses virgin polyester fibers when manufacturing the filter media. Per the contract specifications, an anti-microbial additive and tackifier are added to the virgin polyester product. With these additives, the product is generally unable to be recycled.	
Notes	Corrected Extension Errors & verified annual cost	Corrected Extension Errors & verified annual cost
Contact Name	Wilson Meadows	Magen Shaw
Address	445 West Drive	4758 Distribution Drive, Building #4
	Melbourne, FL 32904	Tampa, FL 33619
Phone	256-767-5122	800-230-2524
Fax	256-767-5188	662-453-8199 or 727-528-1474
Federal ID#	47-1180523	64-0655737
Email	info@filterpro.com	m.shaw@pureairco.com
	Recorded by: Elsa Beal	
	Witnessed by: Joyce E. Haney	